
Row Unit Parts List
Lynx Ag LLC

Lynx Ag LLC



Row Unit

HUB CAP - 10GA STAINLESS
LYNX-0288

$ 7.47

WLDT,CARCASS,ROW UNIT
LYNX-0510

$ 684.86

WLDT,MNT BRKT,ROW UNIT
LYNX-0514

$ 533.51

WLDT,PARA LINKAGE,ROW UNIT
LYNX-0527

$ 197.51

PLT,DOG BONE,ROW UNIT
LYNX-0530

$ 56.88

WLDT,ROW CLEANER
HOLDER,ROW UNIT

LYNX-0531

$ 164.38

TUBE,BUSHING,LIFT STOP,ROW
UNIT

LYNX-0533

$ 8.61

HUB BEARING SPACER - 1/2"
CARBON

LYNX-0536

$ 19.02

WLDT,CLOSER ARM,LF,ROW UNIT
LYNX-0539

$ 165.11

WLDT,CLOSER ARM,RT,ROW UNIT
LYNX-0542

$ 165.11

20" DIRECTIONAL COULTER
LYNX-0547

$ 86.33

WLDT,BASKET MNT BRKT,ROW
UNIT

LYNX-0548

$ 414.73

Lynx Ag LLC 2

LYNX-0288
LYNX-0510
LYNX-0514
LYNX-0527
LYNX-0530
LYNX-0531
LYNX-0533
LYNX-0536
LYNX-0539
LYNX-0542
LYNX-0547
LYNX-0548


Row Unit

WLDT,SHANK,ROW UNIT
LYNX-0559

$ 421.44

16" SMOOTH COULTER
LYNX-0567

$ 41.55

SQUASH PLATE - 1/4" AR400
LYNX-0568

$ 48.53

PLT,16" SHARK TOOTH
COULTER,ROW UNIT

LYNX-0569

$ 137.57

WLDT,GAUGE WHEEL MNT,ROW
UNIT

LYNX-0600

$ 78.24

WLDT,NARROW STRAIGHT
COULTER FOLDER ARM,LF,ROW

LYNX-0604

$ 178.64

WLDT,NARROW STRAIGHT
COULTER FOLDER ARM,RT,ROW

LYNX-0607

$ 178.64

BEARING,UNIVERSAL HUB
LYNX-0860

$ 52.50

WLDT,STRAIGHT COULTER
MNT,ROW UNIT

LYNX-0865

$ 89.83

WLDT,BLADE HOLDER,ROW UNIT
LYNX-0866

$ 282.85

CYL,2 X 4 X 14.25 SIDE
LYNX-0997

$ 282.85

HYD,FTG,CROSS,06MJ-06MJ-06MJ-
06MJ

LYNX-1001

$ 9.50

Lynx Ag LLC 3

LYNX-0559
LYNX-0567
LYNX-0568
LYNX-0569
LYNX-0600
LYNX-0604
LYNX-0607
LYNX-0860
LYNX-0865
LYNX-0866
LYNX-0997
LYNX-1001


Row Unit

HYD,FTG,06MJ-06FJS-90
LYNX-1023

$ 2.89

HYD,FTG,TEE,06MJ-06JFS-06MJ
LYNX-1024

$ 1.82

HYD,FTG,08MJ-08MP-0
LYNX-1037

$ 1.89

HYD,FTG,06FJS-08MP-0
LYNX-1042

$ 4.15

HYD,FTG,06MJ-08MP-0
LYNX-1043

$ 1.89

HYD,FTG,06MJ-08MO-0
LYNX-1055

$ 1.82

BOLT-HHCS,3/4-10 X 2 1/4",GR8
ZY

LYNX-1074

$ 3.13

BOLT-HHCS,3/4-10 X 8",GR8 ZY
LYNX-1075

$ 8.58

NUT-FLANGE,3/4-10,GR8 ZN
LYNX-1078

$ 1.96

WASHER-FLAT,3/4" SAE,GR8 ZY
LYNX-1079

$ 0.61

COULTER,4mm X 16" X 13 WAVE,5
ON 4 1/4",17/32" RD HOLE SIZE,2

LYNX-1131

$ 50.14

WLDT,SHANK POINT,ROW UNIT
LYNX-1134

$ 117.95

Lynx Ag LLC 4

LYNX-1023
LYNX-1024
LYNX-1037
LYNX-1042
LYNX-1043
LYNX-1055
LYNX-1074
LYNX-1075
LYNX-1078
LYNX-1079
LYNX-1131
LYNX-1134


Row Unit

PIN-SPRING,3/8" X 1 3/4",ZN
LYNX-1142

$ 1.33

HYD,BLOCK,ALUM,ROW UNIT
LYNX-1212

$ 56.42

BOLT-DRILL,LONG GREASE INSERT
LYNX-1213

$ 15.05

WLDT,SHORT ARM,SHORT LF ROW
CLEANER

LYNX-1327

$ 279.42

WLDT,LONG ARM,SHORT LF ROW
CLEANER

LYNX-1328

$ 290.82

BUSHING,PIVOT,ROW UNITS
LYNX-1333

$ 18.81

WLDT,SHANK STOP,ROW UNIT
LYNX-1430

$ 44.14

HYD,FTG,06MJ-08MO-90
LYNX-1472

$ 3.62

WLDT,REAR COULTER ARM,ROW
UNIT

LYNX-1499

$ 168.07

WASHER-FLAT,3/4" USS,YZN
LYNX-1690

$ 0.88

WLDT,SHORT ARM,LONG LF ROW
CLEANER

LYNX-1715

$ 279.42

WLDT,LONG ARM,LONG LF ROW
CLEANER

LYNX-1718

$ 290.82

Lynx Ag LLC 5

LYNX-1142
LYNX-1212
LYNX-1213
LYNX-1327
LYNX-1328
LYNX-1333
LYNX-1430
LYNX-1472
LYNX-1499
LYNX-1690
LYNX-1715
LYNX-1718


Row Unit

CYL,3 X 4 X 14.25 SIDE
LYNX-1750

$ 349.67

ROD,BUSHING,DOG
BONE,HARDENED,ROW UNIT

LYNX-1759

$ 8.38

CYL,2 X 4 X 14.25 TOP
LYNX-1770

$ 282.85

BOLT-HHCS,3/4-10 X 1 1/2",GR5
ZN

LYNX-1791

$ 2.21

NUT-HEX-REV LOCK,1/2-13,GR5
ZN

LYNX-1800

$ 1.33

HYD,04-HOSE,06FJS0-06FJS0,19"
LYNX-1827

$ 13.72

HYD,04-HOSE,06FJS0-06FJS0,26"
LYNX-1828

$ 15.31

HYD,04-HOSE,06FJS0-06FJS0,29"
LYNX-1829

$ 16.01

HYD,04-HOSE,06FJS0-06FJS0,31"
LYNX-1830

$ 16.47

HYD,04-HOSE,06FJS0-06FJS0,32"
LYNX-1831

$ 16.70

HYD,04-HOSE,06FJS0-06FJS0,37"
LYNX-1832

$ 17.85

HYD,04-HOSE,06FJS0-06FJS0,41"
LYNX-1833

$ 18.76

Lynx Ag LLC 6

LYNX-1750
LYNX-1759
LYNX-1770
LYNX-1791
LYNX-1800
LYNX-1827
LYNX-1828
LYNX-1829
LYNX-1830
LYNX-1831
LYNX-1832
LYNX-1833


Row Unit

HYD,06-HOSE,08FJS0-08FJS0,20"
LYNX-1834

$ 17.12

HYD,06-HOSE,08FJS0-08FJS0,22"
LYNX-1835

$ 17.66

HYD,06-HOSE,08FJS0-08FJS0,24"
LYNX-1836

$ 18.20

PLT,ROLLING BASKET
COULTER,ROW UNIT

LYNX-1877

$ 121.52

PLT,ROLLING BASKET
FINGER,ROW UNIT

LYNX-1878

$ 6.58

PLT,WHEEL BEARING
SPACER,SS,ROW UNIT

LYNX-1879

$ 5.53

ASSY,SINGLE FINGER BASKET,ROW
UNIT

LYNX-2039

$ 188.27

WLDT,REAR COULTER MNT,ROW
UNIT

LYNX-2331

$ 97.16

WLDT,MNT BRKT CLAMP,ROW
UNIT

LYNX-2335

$ 183.84

WLDT,DEPTH GAUGE LEG,RT,ROW
UNIT

LYNX-2622

$ 217.07

WLDT,DEPTH GAUGE LEG,LF,ROW
UNIT

LYNX-2626

$ 217.07

BUSHING,DEPTH GAUGE
SPACER,ROW UNIT

LYNX-2630

$ 29.61

Lynx Ag LLC 7

LYNX-1834
LYNX-1835
LYNX-1836
LYNX-1877
LYNX-1878
LYNX-1879
LYNX-2039
LYNX-2331
LYNX-2335
LYNX-2622
LYNX-2626
LYNX-2630


Row Unit

WLDT,DEPTH GAUGE BLADE
MNT,ROW UNIT

LYNX-2631

$ 122.55

WLDT,DEPTH GAUGE COG
WHEEL,ROW UNIT

LYNX-2633

$ 199.78

KIT,AUTO LUBE,ROW UNIT
LYNX-2765

$ 612.50

WLDT,RT,CARCASS,ROW UNIT
LYNX-2777

$ 684.86

WLDT,RT,MNT BRKT,ROW UNIT
LYNX-2779

$ 533.51

Lynx Ag LLC 8

LYNX-2631
LYNX-2633
LYNX-2765
LYNX-2777
LYNX-2779


Order Sheet

Row Unit
LYNX-0288 HUB CAP - 10GA STAINLESS ea

LYNX-0510 WLDT,CARCASS,ROW UNIT ea

LYNX-0514 WLDT,MNT BRKT,ROW UNIT ea

LYNX-0527 WLDT,PARA LINKAGE,ROW UNIT ea

LYNX-0530 PLT,DOG BONE,ROW UNIT ea

LYNX-0531
WLDT,ROW CLEANER
HOLDER,ROW UNIT

ea

LYNX-0533
TUBE,BUSHING,LIFT STOP,ROW
UNIT

ea

LYNX-0536
HUB BEARING SPACER - 1/2"
CARBON

ea

LYNX-0539 WLDT,CLOSER ARM,LF,ROW UNIT ea

LYNX-0542 WLDT,CLOSER ARM,RT,ROW UNIT ea

LYNX-0547 20" DIRECTIONAL COULTER ea

LYNX-0548
WLDT,BASKET MNT BRKT,ROW
UNIT

ea

LYNX-0559 WLDT,SHANK,ROW UNIT ea

LYNX-0567 16" SMOOTH COULTER ea

LYNX-0568 SQUASH PLATE - 1/4" AR400 ea

LYNX-0569
PLT,16" SHARK TOOTH
COULTER,ROW UNIT

ea

LYNX-0600
WLDT,GAUGE WHEEL MNT,ROW
UNIT

ea

LYNX-0604
WLDT,NARROW STRAIGHT
COULTER FOLDER ARM,LF,ROW
UNIT

ea

LYNX-0607
WLDT,NARROW STRAIGHT
COULTER FOLDER ARM,RT,ROW
UNIT

ea

LYNX-0860 BEARING,UNIVERSAL HUB ea

LYNX-0865
WLDT,STRAIGHT COULTER
MNT,ROW UNIT

ea

LYNX-0866 WLDT,BLADE HOLDER,ROW UNIT ea

LYNX-0997 CYL,2 X 4 X 14.25 SIDE ea

LYNX-1001
HYD,FTG,CROSS,06MJ-06MJ-06MJ-
06MJ

ea

LYNX-1023 HYD,FTG,06MJ-06FJS-90 ea

LYNX-1024 HYD,FTG,TEE,06MJ-06JFS-06MJ ea

LYNX-1037 HYD,FTG,08MJ-08MP-0 ea

LYNX-1042 HYD,FTG,06FJS-08MP-0 ea

LYNX-1043 HYD,FTG,06MJ-08MP-0 ea

LYNX-1055 HYD,FTG,06MJ-08MO-0 ea

LYNX-1074 BOLT-HHCS,3/4-10 X 2 1/4",GR8 ZY ea

LYNX-1075 BOLT-HHCS,3/4-10 X 8",GR8 ZY ea

LYNX-1078 NUT-FLANGE,3/4-10,GR8 ZN ea

LYNX-1079 WASHER-FLAT,3/4" SAE,GR8 ZY ea

LYNX-1131
COULTER,4mm X 16" X 13 WAVE,5
ON 4 1/4",17/32" RD HOLE SIZE,2
3/4" PILOT

ea

LYNX-1134 WLDT,SHANK POINT,ROW UNIT ea

LYNX-1142 PIN-SPRING,3/8" X 1 3/4",ZN ea

LYNX-1212 HYD,BLOCK,ALUM,ROW UNIT ea

LYNX-1213 BOLT-DRILL,LONG GREASE INSERT ea

LYNX-1327
WLDT,SHORT ARM,SHORT LF ROW
CLEANER

ea

LYNX-1328
WLDT,LONG ARM,SHORT LF ROW
CLEANER

ea

LYNX-1333 BUSHING,PIVOT,ROW UNITS ea

LYNX-1430 WLDT,SHANK STOP,ROW UNIT ea

LYNX-1472 HYD,FTG,06MJ-08MO-90 ea

LYNX-1499
WLDT,REAR COULTER ARM,ROW
UNIT

ea

LYNX-1690 WASHER-FLAT,3/4" USS,YZN ea

LYNX-1715
WLDT,SHORT ARM,LONG LF ROW
CLEANER

ea

LYNX-1718
WLDT,LONG ARM,LONG LF ROW
CLEANER

ea

LYNX-1750 CYL,3 X 4 X 14.25 SIDE ea

LYNX-1759
ROD,BUSHING,DOG
BONE,HARDENED,ROW UNIT

ea

LYNX-1770 CYL,2 X 4 X 14.25 TOP ea

LYNX-1791 BOLT-HHCS,3/4-10 X 1 1/2",GR5 ZN ea

LYNX-1800 NUT-HEX-REV LOCK,1/2-13,GR5 ZN ea

LYNX-1827 HYD,04-HOSE,06FJS0-06FJS0,19" ea

LYNX-1828 HYD,04-HOSE,06FJS0-06FJS0,26" ea

LYNX-1829 HYD,04-HOSE,06FJS0-06FJS0,29" ea

LYNX-1830 HYD,04-HOSE,06FJS0-06FJS0,31" ea

LYNX-1831 HYD,04-HOSE,06FJS0-06FJS0,32" ea

LYNX-1832 HYD,04-HOSE,06FJS0-06FJS0,37" ea

LYNX-1833 HYD,04-HOSE,06FJS0-06FJS0,41" ea

LYNX-1834 HYD,06-HOSE,08FJS0-08FJS0,20" ea

LYNX-1835 HYD,06-HOSE,08FJS0-08FJS0,22" ea

LYNX-1836 HYD,06-HOSE,08FJS0-08FJS0,24" ea

LYNX-1877
PLT,ROLLING BASKET
COULTER,ROW UNIT

ea

LYNX-1878
PLT,ROLLING BASKET FINGER,ROW
UNIT

ea

LYNX-1879
PLT,WHEEL BEARING
SPACER,SS,ROW UNIT

ea

LYNX-2039
ASSY,SINGLE FINGER BASKET,ROW
UNIT

ea

LYNX-2331
WLDT,REAR COULTER MNT,ROW
UNIT

ea

LYNX-2335 WLDT,MNT BRKT CLAMP,ROW UNIT ea

LYNX-2622
WLDT,DEPTH GAUGE LEG,RT,ROW
UNIT

ea

LYNX-2626
WLDT,DEPTH GAUGE LEG,LF,ROW
UNIT

ea

LYNX-2630
BUSHING,DEPTH GAUGE
SPACER,ROW UNIT

ea

LYNX-2631
WLDT,DEPTH GAUGE BLADE
MNT,ROW UNIT

ea

LYNX-2633
WLDT,DEPTH GAUGE COG
WHEEL,ROW UNIT

ea

LYNX-2765 KIT,AUTO LUBE,ROW UNIT ea

LYNX-2777 WLDT,RT,CARCASS,ROW UNIT ea

LYNX-2779 WLDT,RT,MNT BRKT,ROW UNIT ea

Lynx Ag LLC 9


